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A bag of carrots weighs 
about1/4 kg on the scales.

Roughly, what would be 
the weight on the scales
of 10 bags of carrots?
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A bottle of water holds
175 millilitres.
A cup of water holds 25
millilitres.
How many cups of water
are in 1 bottle?
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Lucy’s school starts at
9:00am.
It takes 40 minutes to get
to school.

What time does she need
to leave?
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The birthday cake went
into the oven at 10:20.
It came out at 10:45.

How long was it in the 
oven for?
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School lunch takes 50 
minutes.

It ends at 1:00pm

What time does it start?
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Mark got into the pool
at 3:30pm.

He swam for 40 minutes.

What time did he get out
of the pool?
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